Indian River County Purchasing Division purchasing@ircgov.com



ADDENDUM NO. 1

Issue Date: August 23, 2021

Project Name: Annual Bid for Pest Control

Bid Number: 2022006

Bid Opening Date: September 3, 2021

This addendum is being released to answer questions received to date.

The information and documents contained in this addendum are hereby incorporated in the invitation to bid. This addendum must be acknowledged where indicated on the bid form, or the bid may be declared non-responsive.

Attachments:

Pirate Pest Control Pricing

Questions and Answers

- Is square footage available for the locations listed in the Bid Form?
 Those consolidated numbers are not available. Prospective bidders should visit each facility to assess size and service requirements.
- 2. Is any pricing and current vendor information available for these services? See attached.

Indian River County Purchasing Division

1800 27th Street Vero Beach, FL 32960 Phone (772) 226-1416



Bid Form

Annual Bid for Pest Control Services

Bid #:

2019001

Bid Opening Date and Time:

September 6, 2018

2:00 P.M.

Bid Opening Location:

Purchasing Division 1800 27th Street Vero Beach, FL 32960

In accordance with all terms, conditions, specifications, and requirements, the Bidder offers the following:

Loc	ation	Hours	Service Required	Cost Per Month	Number of Months	Extended Annual Price
1	County Administration Building "A" 1801 27 ^h Street Vero Beach, FL	M-F 8:30- 5:00	Entire Building	\$39	12	\$ 468
2	County Administration Building "B" 1800 27 th Street Vero Beach, FL	M-F 8:30- 5:00	Entire Building	\$39	12	\$469
3	Veteran's Service Office 2525 St. Lucie Ave. Vero Beach, FL	M-F 8:30- 5:00	Offices and Restroom	\$ 14	12	\$ 168
4	Main Library 1600 21 st Street Vero Beach, FL	M-F 10:00- 5:00	Entire Building	\$ 9	12	\$ 108
5	North County Library 1001 Fellsmere Road Sebastian, FL	M-F 10:00- 5:00	Entire Building	\$9	12	\$ 108
6	North County Offices 11602 & 11604 U.S. Hwy 1 Sebastian, FL	M-F 8:30- 5:00	Both Offices and Restrooms	\$9	12	\$ 10%
7	Indian River County Courthouse 2000 16 th Avenue Vero Beach, FL	M-F 8:00- 5:00	Integrated Pest Management	\$39	12	\$468

Loc	ation	Hours	Service Required	Cost Per Month	Number of Months	Extended Annual Price
8	Indian River County Courthouse Garage 2065 16 th Avenue Vero Beach, FL	M-F 8:00 - 5:00	Entire Building Perimeter	\$74	12	\$ 798
9	Public Health Building 1900 27 th Street Vero Beach, FL	M-F 8:00- 5:00	Entire Building	\$ 29	12	\$346
10	Indian River County Jail 4055 41st Street Vero Beach, FL	M-F 8:00- 5:00	Entire Building (including but not limited to: Kitchen, Office, Plumbing Chases, Cell Areas, Dayroom, and Restrooms)	\$ 59	12	\$1908
11	Indian River County Jail Kitchen 4055 41 st Street Vero Beach, FL	M-F 7:00P- 10:00P	Kitchen (additional cost for service after closing)	\$25	12	\$300
12	Sheriff's Department & 3 on-site trailers 4055 41 st Street Vero Beach, FL	M-F 8:00- 5:00	Entire Building (including but not limited to: Restrooms, Offices, Trailers, Shop (Garage), Lounge, and Weight / Shower Room)	\$ 2 4	12	\$788
13	Sheriff's Department Crime Scene 3885 41st Street Vero Beach, FL	M-F 8:00- 5:00	Offices & Restrooms	\$ 24	12	\$ 788
14	Sheriff's Department Hangar 2520 N. Airport Dr. Vero Beach Municipal Airport, Vero Beach, FL	M-F 8:00- 5:00	Entire Office	\$9	12	s 10°8
15	Sheriff's Office Vero Fashion Outlets 1872 94 th Drive, C-140 Vero Beach, FL	M-F 8:30- 5:00	Entire Office	\$10	12	\$ 170
16	Sheriff's Office Indian River Mall 6200 20 th Street, Room 471 Vero Beach, FL	M-F 8:30- 5:00	Entire Office	\$ 9	12	\$ 108

Loc	ation	Hours	Service Required	Cost Per Month	Number of Months	Extended Annual Price
17	Sheriff's Mace Office 1860 82 nd Ave Vero Beach, FL	M-F 8:30- 5:00	Entire Office	\$9	12	\$ 108
18	Sheriff's Warehouse 4055 41 st Street Vero Beach, FL	M-F 8:30- 5:00	Entire Building	\$14	12	\$ 168
19	Road and Bridge Dept. 4550 41st Street Vero Beach, FL	M-F 7:00- 3:00	Entire Office Space and Restrooms (Inside)	\$9	12	\$ 108
20	Indian River County Landfill 1325 74 th Avenue SW Vero Beach, FL	M-F 7:00- 5:00	Offices and Restrooms	\$9	12	\$ 109
21	Fleet Management Facility 5235 41st Street, Suite A Vero Beach, FL	M-F 7:00- 3:00	Exterior portion of offices, interior offices, bathrooms, break room and parts room	\$14	12	\$168
22	Traffic Operations 4548 41 st Street Vero Beach, FL	M-F 7:00- 3:00	Entire Building	\$9	12	\$ 108
23	Utilities Operation Buildings 4350 41st Street Vero Beach, FL	M-F 7:00- 3:30	Office area, bathrooms, employee meeting rooms and warehouse office area only	\$39	12	s 468
24	West Regional WWTF 8405 8 th Street Vero Beach, FL	M-F 7:00- 3:30	Entire North Office Building	\$ 9	12	s 108
25	South Regional WWTF 2500 6 th Avenue SW Vero Beach, FL	M-F 7:00- 3:30	Entire West Office Building	\$9	12	\$ 108
26	Central Regional WWTF / Sludge Facility 3550 49 th Street Vero Beach, FL	M-F 7:00- 3:30	Entire East Office Building	\$9	12	\$ 108
27	South County RO Plant 1550 9 th Street SW Vero Beach, FL	M-F 7:00- 3:30	Control Room, Offices, Bathrooms, MCC Room, Lab	\$0	12	\$10%

Location		Hours	Service Required	Cost Per Month	Number of Months	Extended Annual Price
28	North County RO Plant 7751 58 th Ave Vero Beach, FL	M-F 7:00- 3:30	Control Room, Offices, Bathrooms, MCC Room, Lab	\$14	12	\$ 168
29	Public Shooting Range 10455 102 nd Terrace Sebastian, FL	TH-M 9:00- 5:00	Entire Office Building	\$9	12	\$ 108
30	Gifford Aquatics 4895 43 rd Ave. Vero Beach, FL	TU-F 12:00- 5:00	Main Office, Classroom & Concession Area	\$9	12	\$108
31	North County Aquatics 9450 95 th Street Sebastian, FL	M-F 6:00- 6:00	Main Office, Managers Office & Classroom	\$ 9	12	s 10°8
32	Elections Office 4375 43 rd Ave. Vero Beach, FL	M-F 8:30-5	Entire Building	\$ 19	12	\$778
33	Facilities Management and Animal Control 4305A 43 rd Ave Vero Beach, FL	M-F 7:30-4	Entire Building	\$ 19	12	\$778
34	Parks Division 5350 77th St. Wabasso, FL	M-F 7:00- 3:00	Office Building	\$ 14	12	\$ 168
35	Fairgrounds Building 7955 58th Ave Wabasso, FL	M-F 7:00- 3:00	Expo Building	\$24	12	\$788
36	Wabasso Causeway Park CR 510 Wabasso, FL	M-F 7:30- 5:00	Restrooms and Chase Area	\$9	12	\$ 108
37	Wabasso Beach Park A1A at CR 510 Oceanside Wabasso, FL	M-F 7:30- 5:00	Restrooms and Lifeguard Tower	\$9	12	\$ 108
38	Treasure Shores Park 11300 North A1A Vero Beach, FL	M-F 7:30- 5:00	Restrooms and Chase Area	\$9	12	\$ 108
39	Tracking Station Park 800 46th PL (North A1A) Vero Beach, FL	M-F 7:30- 5:00	Restrooms and Chase Area	\$9	12	s 108
40	Round Island Oceanside Park 2200 South A1A Vero Beach, FL	M-F 7:30- 5:00	Restrooms and Chase Area	\$9	12	\$ 10%

Loc	ation	Hours	Service Required	Cost Per Month	Number of Months	Extended Annual Price
41	Round Island Riverside Park 2205 South A1A Vero Beach, FL	M-F 7:30- 5:00	Restrooms and Chase Area	\$9	12	\$ 108
42	Emergency Operations Center 4225 43 rd Ave Vero Beach, FL	M-F 8:00- 5:00	Entire Building	\$24	12	\$798
43	Fire Station 1 1500 Old Dixie Hwy Vero Beach	M-F 8:00- 5:00	Entire Building	\$14	12	\$168
44	Fire Station 2 3301 Bridge Plaza Drive Vero Beach, FL	M-F 8:00- 5:00	Entire Building	\$14	12	\$16%
45	Fire Station 3 2900 Airport West Drive Vero Beach, FL	M-F 8:00- 5:00	Entire Building	\$ (4	12	\$168
46	Fire Station 4 1500 9th Street SW Vero Beach, FL	M-F 8:00- 5:00	Entire Building	\$14	12	\$168
47	Fire Station 5 6580 Old Dixie Hwy Vero Beach, FL	M-F 8:00- 5:00	Entire Building	\$14	12	\$168
48	Fire Station 6 101 Hwy A1A Vero Beach, FL	M-F 8:00- 5:00	Entire Building	\$14	12	\$168
49	Fire Station 7 1891 90th Ave Vero Beach, FL	M-F 8:00- 5:00	Entire Building	sly	12	\$168
50	Fire Station 8 1115 Barber Street Sebastian, FL	M-F 8:00- 5:00	Entire Building	\$ 14	12	\$ 169
51	Fire Station 9 13550 Roseland Road Sebastian, FL	M-F 8:00- 5:00	Entire Building	\$14	12	\$168
52	Fire Station 10 62 North Broadway Fellsmere, FL	M-F 8:00- 5:00	Entire Building	\$14	12	\$ 169
53	Fire Station 11 2555 93rd Street Vero Beach, FL	M-F 8:00- 5:00	Entire Building	\$14	12	\$ 168
54	Fire Station 12 3620 49th Street Vero Beach, FL	M-F 8:00- 5:00	Entire Building	\$14	12	\$169

Bid Form - 2019001

Location		Hours	Service Required	Cost Per Month	Number of Months	Extended Annual Price
55	Fire Station 13 4440 4 th Street Vero Beach, FL	M-F 8:00- 5:00	Entire Building	\$14	12	\$ 168
56	Fire Station 14 6780 26 th Street Vero Beach, FL	M-F 8:00- 5:00	Entire Building	\$14	12	\$ 168
57	Fire Station 15 9470 County Road 512 Sebastian, FL	M-F 8:00- 5:00	Entire Building	\$14	12	\$168
58	Sandridge Golf Course Clubhouse 5300 73rd Street Vero Beach, FL	M-F 7:30- 5:00	Entire Clubhouse Building; Rodent treatment only at cart barn	\$45	12	\$540
59	Recreation 1590 9 th Street SW Vero Beach, FL	M-F 8:00a- 9:00a	Entire Building	\$45	12	\$540
	Total Annual Bid					O Se

mathematical error correct total \$ 13,260

Total annual bid in words

List pests/rodents covered by this service	ANTS, ROACHES, FLEAS, STLVENETH,		
List pests/rodents <u>not</u> covered by this service	TOON DESTROYING ORGANISTMS, ROPENTS, 5TO BED BUJS, LICE: ROPENT BAITSTATEONS WILL BE PROVIDED Q \$ 20 PER MONTHLY FOR \$300 EACH	OREJ GK RBO4 +	eath weres,
	these prices to other governmental agencies Yes		No 🗌